

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SLZ 6633E

	Nett			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	FRONT HEAD LAMP ASSY RH (N)	NOT NECESSARY	\$4,590.00	\$0.00
1	FRONT HEAD LAMP HOLDER (N)	NOT NECESSARY	\$196.90	\$0.00
1	FRONT HEAD LAMP BRACKET (N)	NOT NECESSARY	\$210.00	\$0.00
1	FRONT BUMPER AMG SPORT MODEL (N)	TO REPAIR SEE LABOUR	\$2,680.00	\$0.00
1	FRONT BUMPER SIDE HOLDER (N)	BROKEN	\$203.80	\$203.80
1	FRONT BUMPER INNER SIDE CORNER (N)	NOT NECESSARY	\$410.00	\$0.00
10	FRONT BUMPER REBIT @\$10.00 (N)	NOT NECESSARY	\$100.00	\$0.00
2	FRONT BUMPER PARKING SENSOR @\$498.00 (N)	NOT NECESSARY	\$996.00	\$0.00
4	FRONT BUMPER SENSOR RING @\$40.00 (N)	NOT NECESSARY	\$160.00	\$0.00
4	FRONT BUMPER SENSOR HOLDER @\$80.00 (N)	NOT NECESSARY	\$320.00	\$0.00
1	FRONT BUMPER WIRE (N)	NOT NECESSARY	\$598.00	\$0.00
1	FRONT BUMPER CORNER HOLDER	NOT NECESSARY	\$391.00	\$0.00
1	FRONT RH FENDER (AMG SPORT) (N)	CUT	\$1,351.00	\$1,351.00
1	FRONT RH FENDER SIDE HOLDER (N)	NOT NECESSARY	\$210.00	\$0.00
1	FRONT RH FENDER DUST GARNISH (N)	NOT NECESSARY	\$399.00	\$0.00
10	FRONT RH FENDER DUST GARNISH CLIPS @\$8.00 (N)	NOT NECESSARY	\$80.00	\$0.00
1	FRONT RH DOOR MIRROR (N)	BROKEN	\$1,990.80	\$1,251.00
1	FRONT RH DOOR MIRROR COVER (N)	BROKEN	\$498.60	\$188.00
1	FRONT RH DOOR MIRROR SIGNAL (N)	BROKEN	\$399.80	\$185.00
1	FRONT RH DOOR (N)	DENTED	\$2,680.00	\$2,201.00
1	FRONT RH DOOR RUBBER (N)	DEFORMED	\$598.00	\$286.00
2	FRONT RH DOOR HINGER @\$169.00 (N)	NOT NECESSARY	\$338.00	\$0.00
1	FRONT RH DOOR STOPPER (N)	NOT NECESSARY	\$310.00	\$0.00
1	FRONT RH DOOR HANDLE ASSY (N)	CUT	\$498.00	\$398.50
1	FRONT RH DOOR MOULDING (N)	NOT NECESSARY	\$338.00	\$0.00
1	FRONT RH DOOR CHANNEL MOULDING (N)	NOT NECESSARY	\$310.00	\$0.00
1	FRONT RH DOOR CHANNEL CENTRE PAD (N)	NOT NECESSARY	\$368.00	\$0.00
1	REAR RH DOOR (N)	TO REPAIR SEE LABOUR	\$2,350.00	\$0.00
1	REAR RH FENDER (N)	DENTED	\$3,390.00	\$2,430.00
1	REAR RH FENDER DUST GARNISH (N)	NOT NECESSARY	\$398.60	\$0.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Nett			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
10	REAR RH FENDER DUST GARNISH CLIPS @\$8.00 (N)	NOT NECESSARY	\$80.00	\$0.00
1	REAR WINDSCREEN TOP MOULDING (N)	NECESSARY	\$299.80	\$165.00
1	REAR WINDSCREEN INNER SEAL (N)	NOT NECESSARY	\$150.00	\$0.00
2	SPORT RIM CENTRE CAP @\$65.00 (N)	NOT NECESSARY	\$130.00	\$0.00
1	REAR TYRE MICHELIN P8 SPORT 225X35X19 (N)	NOT NECESSARY	\$690.00	\$0.00
2	TYRE AIR VALVE @\$30.00 (N)	NOT NECESSARY	\$60.00	\$0.00
1	FRONT ABSORBER (N)	NOT NECESSARY	\$998.00	\$0.00
1	FRONT ABSORBER MOUNTING (N)	NOT NECESSARY	\$399.00	\$0.00
1	FRONT ABSORBER BEARING (N)	NOT NECESSARY	\$186.00	\$0.00
1	FRONT ABSORBER STOPPER (N)	NOT NECESSARY	\$90.00	\$0.00
1	FRONT ABSORBER DUST COVER (N)	NOT NECESSARY	\$105.00	\$0.00
1	FRONT ABSORBER SPRING PAD (N)	NOT NECESSARY	\$129.00	\$0.00
1	FRONT KNUCKLE ARM (N)	DISTORTED	\$1,199.00	\$1,006.00
1	FRONT KNUCKLE HUP (N)	NOT NECESSARY	\$991.00	\$0.00
1	FRONT KNUCKLE BEARING (N)	DAMAGED	\$489.00	\$489.00
1	FRONT KNUCKLE BEARING CAP (N)	NOT NECESSARY	\$98.00	\$0.00
1	FRONT LOWER ARM (N)	DISTORTED	\$799.00	\$648.00
1	FRONT TRUST ARM (N)	DISTORTED	\$735.00	\$580.00
1	REAR ABSORBER (N)	NOT NECESSARY	\$899.00	\$0.00
1	REAR ABSORBER MOUNTING (N)	NOT NECESSARY	\$310.00	\$0.00
1	REAR KNUCKLE ARM (N)	DISTORTED	\$986.00	\$820.00
1	REAR KNUCKLE HUP (N)	NOT NECESSARY	\$910.00	\$0.00
1	REAR KNUCKLE BEARING (N)	DAMAGED	\$498.00	\$357.00
1	REAR LOWER ARM (N)	DISTORTED	\$1,280.00	\$598.20
	LESS 0.00 / 10.00% DISCOUNT		\$0.00	(\$1,315.75)
			\$39,874.30	\$11,841.75

	Special Nett			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
10	FRONT BUMPER CLIPS @\$8.00 (SN)	NECESSARY	\$80.00	\$30.00
1	REAR WINDSCREEN REPAIR KIT & SEALANT (SN)	NECESSARY	\$180.00	\$40.00
1	FRONT SPORT RIM BBS 19 X 8.5 ET 40 (SN)	CUT/BROKEN	\$2,890.00	\$2,200.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Special Nett			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	REAR SPORT RIM BBS 19 X 9.5 ET 42 (SN)	CUT/BROKEN	\$3,310.00	\$2,500.00
1	FRONT TYRE MICEHLIN P8 SPORT 225X40X19 (SN) (\$280.00) (50%) (DEPRECIATION)	CUT	\$610.00	\$140.00
		\$7,070.00	\$4,910.00	

Description of Parts	Condition	Workshop Estimate (\$)	Our Adjuste
TO REMOVE & REFIT WIRE, AND CHECK WIRING FOR HEADLAMP, BUMPER, DOOR & ALL ACCIDENT AFFECTED AREA	NOT NECESSARY	\$380.00	\$0
TO KNOCKING, STRAIGHTENING, REPAIR & RENEW ALL ACCIDENT AFFECTED AREA. INCLUSIVE OF THE REPAIR OF FRONT BUMPER AMG SPORT MODEL AND REAR RH DOOR		\$2,000.00	\$1,000
TO REMOVE & REFIT ALL INTERIOR CUSHION, DOOR BOARD, GARNISH & ALL ACCIDENT AFFECTED AREA		\$380.00	\$120
TO REMOVE & REFIT REAR WINDSCREEN		\$180.00	\$120
TO RESPRAY PAINTING INNER & OUTER PARTS & ALL ACCIDENT AFFECTED AREA		\$2,000.00	\$1,000
TO REMOVE & REFIT ALL UNDERCARRIAGE ACCIDENT AFFECTED AREA		\$1,500.00	\$350
TO REMOVE & RENEW WHEEL HUP BEARING. (FRONT / REAR)	NOT NECESSARY	\$360.00	\$0
TO ADJUST COMPUTER WHEEL ALIGNMENT, CAMBER, CASTOR & TEST DRIVE		\$280.00	\$60
TO RENEW TYRE AND BALANCING. (FRONT / REAR)		\$160.00	\$40
TO USE XENTRY DIAGNOSTIC TO CHECK ON CONTROL UNIT, RESET MEMORY TO IDENTIFICATION STANDARD	NOT NECESSARY	\$380.00	\$0
TO RUST PROOF ALL ACCIDENT AFFECTED AREA		\$200.00	\$40
		\$7,820.00	\$2,730
GRAND TOTAL		\$54,764.30	\$19,481.
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)			\$14,200.

TOTAL FOR SPARE PARTS: \$ 46,944.20 \$ 16,751.75
TOTAL FOR LABOUR: \$ 7,820.00 \$ 2,730.00
TOTAL REPAIR COST: \$ 54,764.20 \$ 19,481.75

ABT

ANG BRYAN TANI



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.